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1) DTEI VO RT L FRBIOC=TIIT () Iy IbRAREERA R 2002403 A 100 200 2l — — — |PFIZE#(BOOAR) 3,000 66[4F= 1,039 1,381 1,620
2|FEET EREEWMIEGR) A= BEE 2003403 A 67 201 3 — - — |ARAE 1,950 6.6(=E 1,400 2,100 2,900
JSLERBEEEERHESE (BR) wilIRIZ Y 1 —2ay RBRK A R1EBFL 20084E03 A 103 206 2l — — - |aEaE 3,000 6.6|=E 1,147 1,983 2,819
4|Iumh (¥R) R BAERR MBI R1EBEL 20044£02 A 69 207 3 — — - |aEaE 3,000 6.6|=E 1,194 1,899 2,795
51BN RYLEES =HiEMm (%) FLORAREERMAR 20034E03 A 105 210 2| — — — |DBOA=H 1,980 6.6|=E 1,500 2,301 3,101
6| R JFETY =72 (#) A= BEE 2009403 A 109 218 2l — - — |ARAE 2,150 6.6(=E 1,350 2,000 2,649
11BEE™ FRBIOCS=TIIT () Iy IbRKAREERA 2002%11 A 73 219 3 — - — |ARLE 2,470 6.6(=E 1,300 2,000 3,007
=T (¥R) R BAERR A=A BEA+ AR AN |20084E08 A 110 220 2|ER 20 2|DBOA 5,100 66|15 1,400 2,401 3,399
9|%&mTH B 3LiEfR () A=A BEE + AR A =X 2011402 112 224 2|BRK 15 1| EHaEHEEAR 3,000 7%= 1,218 1,887 2,580
10| AEHMRABTHRERES (F) MgHIREE Y 2 —> 3y MBI R1ESRL 20034£02 A 115 230 2l — — - |(aEaE 2,700 6.6|=E 1,200 1,800 2,700
11|FriR ™ JFETV =TT (#R) A=A BEE + AR A X 2003403 A 115 230 2|BRK 30 2| AR E 5,000 66[4F= 1,199 2,389 3,010
12(#88 )| LRGBS A 0B S JFETV =TT (#R) A=A BEA+ AR A |20094E038 1175 235 2| R =X 26 2| BNENE 5,000 2|%5 1,300 2,100 2,800
1B AR EEITRESEE EESEIT-BELER2IVC=T7IVI ) | RM—AXBEA+KE#ARX  |20034£03 A 1185 237 2| R = 10 QR EMNEEAR 2,500 6.6|=E 1,200 2,000 3,000
14|RIBRLEES EESI-RECZIVOZTIVI ) |REBERIXARILER 2006403 A 120 240 2l — - — |REISEMEEASH 4,600 66|15 1,194 2,054 2,962
15| RALEHETMEEHEES (¥8) VR4 A=A BEA+ AR A |2003403A8 80 240 K 31 |AZNE 3,800 6.6|=E 1,202 2,088 3,000
16| (B ZERREREEXMH IHI- VR BEEZTERRRER FLURAREERAR 20024E12 A 80 240 3| g = 66.5 I NEERE 1,800 6.6|=E - 860 -

17| AL EEES B 3LiEfn () Ab—hRHBEE + AR A X 2006410 A 120 240 2|BRK 24 2| AR E 4,900 285 1,800 2,300 2,800
18|18 A NI E T3 (B Ab—hRHBEE + AR A X 20084127 120 240 2| 24 21N NE 4,500 2|%%E 1,400 2,100 2,800
19[BARMERIRIERHEEHEE (k) ERRAERRT A=A BEA+ AR A |2003403A8 123 246 2|ER= 40 2| BNENE 3,600 66|15 1,200 1,800 3,000
20| (BR) DT EY =V RT L FEHIO=TULT () Iy I A R EER AR 20064£03 A 125 250 2l — — — |PFIZE%(BOOAR) 5,000 66 (4= 1,802 2,202 2,582
21|t B 3L & (%) A=A BEE + AR A X 2005403 A 125 250 2|BRK 23 1| REQFEMEESX 2,500 6.6|=E 800 1,400 2,000
22|FREF /MR- BB RESRMES JFETV =TT (#) DY IbRAREBER AN 2008403 A 125 250 2l — - — |REISEMEESH 4,990 2|5 1,400 2,200 3,399
23(1BFE™ () 2U< A=A BEE + AR A X 2005403 A 85 255 3BRA 40 21 NE 5,000 7|43 1,202 2,002 2,795
24(HXTTH FRBIOO=TILY () I AREER AR 20114E03 A 85 255 3 — - — |REISEMEESH 4,400 2|%%B 1,001 1,701 2,401
25| XRIIREHES =HiEm %) FLokARbAERARX 20034E03 A 130 260 2| — — - |aEaE 4,500 2|5 956 1577 2,580
26()1lEH (B) iRV 1 —2ay REIRN A RLAR 20104E03 A 132.5 265 2| — — - |aEaE 4,000 66|15 1,338 1,997 2,867
27|#nReTh JFETV =TT (#) ZAb—hBEE 2003%12A 90 270 3 — — — |AERLE 3,000 6.6(=E 1,314 2,007 2,604
28[KFmH JFETV =TT (#) A=A BEE + AR A X 2002403 A 90 270 3BRA 29 1|2EANE 4,000 2|%%E 1,100 1,950 2,750
29|FERBHT JFETV =TT (#) A=A BEE + AR A X 2002409 A 140 280 2|BRK 40 21 NE 7,000 77|48 1,300 2,401 3,000
W(HRR-T=RFF—BEHES ANSHBEEIE (K Ah—hBEEI+ RERAX |2003406 A 150 300 2| tRF = 30 1|2EAE 6,400 66|45 1,696 2,293 2,891
BN R+ =RBFF—BEHES I EE T3 (#%) RERX AR BR 20074127 150 300 2|ER= 60 21/ NE 6,750 66|45 1,696 2,293 2,891
R(RIALREEFEERMES (¥R)2U< Ab—hHBEE+ AR A 20034E03 A 150 300 2|B&RK 60 2| AERANE 4,650 2% 1,601 2,508 3,201
33| ST B ILiER (B) RENRX A RILBR 20044E03 A 100 300 3 — - - |REIQEMEESH 2,800 6.6|=E 1,200 2,100 3,000
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